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Materiali in progressiva 5+10.00

0.00

482.81

0.00

14.39

Scavo

Riporto

0.00

553.05

0.00

17.86

Materiali in progressiva 4+80.00

Scavo

Riporto

Tracciato - FO 06

Tracciato - FO 06

Materiali in progressiva 4+50.00

0.00

730.53

0.00

19.02

Scavo

Riporto

Tracciato - FO 06

Progr.: 0+510.00

Scala : 1:200
Q.Rif. : 980.00

Sez. 17

Progr.: 0+480.00

Scala : 1:200
Q.Rif. : 980.00

Sez. 16

Progr.: 0+450.00

Scala : 1:200
Q.Rif. : 980.00

Sez. 15

Materiali in progressiva 4+20.00

0.00

621.93

0.00

30.10

Scavo

Riporto

Tracciato - FO 06

Progr.: 0+420.00
Scala : 1:200
Q.Rif. : 980.00

Sez. 14
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Materiali in progressiva 8+30.50

Materiali in progressiva 8+12.92
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Materiali in progressiva 9+15.10

Scala : 1:200
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